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Rittersburgers is a local restaurant that determines how many pieces they need to order because orders
are placed by a “rapp” only. This is because the orders are such unusual numbers.

The following lists the ingredients placed in these boring hamburgers and the masses of each item in

hamburger mass units (hmu).

1
Hamburgerbun Cheese
2.003 4.034
3
Bacon Strip Hamburgerpatty
7.618 12.457

1. What is the mass of one slice of cheese? INCLUDE UNITS!

2 O Y

2. What is the mass of a hamburger made from a top and bottom bun, two patties, and twa slices

of cheese? INCLUDE UNITS!

2(2.00%) + 2(2.4\) v 2(4.024) - 31.008 hmu

Now there is a really cool relationship that is already known about pieces, or even the total number of

hamburgers made. It is the rapp. A rapp of anything is 7 items.

I can have a rapp of cheese, which is 7 pieces of cheese.

| can have a rapp of single hamburgers-which is seven hamburgers.
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Rittersburgers chooses to package their items in rapps because the relationship with the mass on the
periodic table of burgers is the same numerical number as the hmu, but instead in units of grams. This
means that 7 buns has a mass of 2.003 grams instead of 2.003 hmu (because one bun is 2.003 hmu}.

Let’s make a relationship...

Rapp

{Counting unit that
describes an amount)

Pieces

{Can be whole
hamburgers, slices of
cheese, hamburger
patties, etc)

{in units of grams}

F 3

7 items = mass in
grams from the
hamburger table

3. What is the mass of one rapp of cheese(7 slices of cheese)? INCLUDE UNITS!

AL DA

4. What is the mass of a rapp of hamburgers{seven hamburgers), with each a top and bottom bun,
two hamburger patties, and two slices of cheese? INCLUDE UNITS!

27 .008 3
5. How are answers 1 and 3 similar? How are they different?
Jime viwumber | ditberent gnitd (o veq)

6. How are answers 2 and 4 similar? How are they different?

dOUN\IL numpe | Qerent WG'\H (hmu vs. 0))

7. Ryan loves Rittersburger’s “Double Down Cholesteral Attack”. This specific hamburger has no
buns, and contains two hamburger patties, two slices of cheese and an order of bacon (which

has fjaqu(-r’i:‘ta;}%\ 2“7--1'\ U‘l) ZU‘\-D?HB

a. What is the mass of this burger?
(2 -HH W,

h. Whatis the mass of one rapp of this burger?

L3474

c. Inone of these burgers, how many%TAL pieces are present?

S Vewes | owr ger

(.f), }(L‘H'\ES b2 (weele ~ A bdoon)
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d. 1Ina rapp of these burgers, how many TOTAL pieces are pesent?
Tagp= 1S g0 G xT= Sopicees

8. Nate orders 2 rapps of a single hamburger {one patty and 2 buns). How many hamburgers does

heorder? |4 \(\M\\O\LYGE\(S UL{ b\lﬂ}()rg[ 2% mﬂd’)

9. Nate orders 2 rapps of a single hamburger as mentioned in the previous problem. What is the

. mass of this order in grams?
a““‘j:? 2,467+ 2(2.003) = L6H16 X 14 - 23062 g
h‘: S

10. If Nate orders 2 rapps of these burgers, how many pieces in TOTAL does he order?{think about
the total number of pieces that come in this particular unit(each hamburger).

4 +28 - 42 peced

11. How many buns does he end up with?

2% ound

12. Taking Ryan's “Double Down Cholesterol Attack”, please determine the % compositi

. 2%
urger. Totp\ (a8 = b3 AT Do B
Taay= (2402 2 24 9 31-\5 \OQWQ (018 = 20. 41 1 ;M;if- ){’%’;‘l‘:‘;
=] = ‘. . ) -
U {?h% rela(fi"c;l?s iﬁ)isgﬁe sa@é Qsht’fégof the mole. A mole of items is 6.02*10%

items. This many items is
also equivalent to the mass on the periodic table. A mole is simply a counting unit. It connects a mass

with a total number of things (either formula units {ionic compounds), molecules {covalent compounds)

or atoms).
oA )y e "L/%OR
3A

Mole

sl ADD=34.28°%
(B AV o

{Counting unit that
describes an amount)

{formula units,

molecules, or atoms) {in units of grams)

F-9

L 2

6.022*10* items = mass on pertodic table in grams

Keep in mind that a compound is simply several atoms held together. For example, CaCl; has one
calcium and two chlorine atoms. This means for everyone one CaCl; formula unit, there is one Calcium



Name

and two chloride ions. PLEASE NOTE THAT THIS IS OK, because when you break up things like a
hamburger you will get multiple parts (just like in the hamburger).

For 10 CaCl; formula units, there will be ten Calcium atoms and twenty Chloride ions.

13.

14.

15.

16.

17.

18.

What is the mass of one NaCl formula unit?

5B4H aumy

What is the mass of one mole NaCl?

1299 + 25 4S = 5544

How are the answers of 13 and 14 similar? How are they different?
S\W yormlzer d\'\&cﬂw UMY

If there are 30 grams of NaCl, how many moles are present?

N

v \SB AMg or 309 S8 4*'—\? 2

Using either the moles or mass in #16, please determine how many formula units are pre

0.5 mol}l,. 02 4 10™ Gmuld wnits 22
- A } N .D
oo 2.09 %10 Cormile o

Please determine how many ATOMS are present in 30 grams of NaCl(keep in mind that for every
one formula unit, there are TWO atoms present.)

AT \D?%) = 1y, 18 x\Dla oMy



